
a}=kmf=174

bfloTj ?= ;DklQ ?=

1= a}lsé clkm;df gf]^ df}Hbft 10,271,657,235   1= ljb]zL d"b|f / ;]So"l/^L 474,940,721,000

2= rng rNtLdf /x]sf] gf]^ 464,669,063,765

hDdf lgisflzt gf]^ 474,940,721,000

hDdf bfloTj 474,940,721,000   hDdf ;DklQ 474,940,721,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 5,000,000,000   1  gf]^ 10,271,657,235
2 ;fwf/)f hu]*f sf]if 25,974,792,905   2  /]RsL -
3 df}lb|s bfloTj sf]if 5,086,563,008   3  ljb]zL d"b|f 32,847,387,052
4 ljsf; sf]ifx? 23,361,346,745   4  ljb]zL a}+s df}Hbft 60,546,077,378
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 595,192,429
6 ;^xL ;lds/)f sf]if 58,821,697,898   6  ljb]zL a)* 136,498,076,654
7 ;"grf¤bL ;lds/)f sf]if 6,312,087,397   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 289,378      -s_ :jb]zL 25,613,500
9 lgIf]k      -v_ ljb]zL 52,060
   -s_ g]kfn ;/sf/ 288,413,527,983   8  nufgL
   -v_ afl)fHo a}°x? 129,975,847,094      s= ljb]zL ;]So"l/^L 277,512,803,778
   -u_ ljz]if lgIf]k -      v= g]kfn ;/sf/sf] ;]So"l/^L 85,843,222,282
   -#_ cGo 33,490,419,801      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 2,795,703,460
10 e"QmfgL lbg"kg]{ lan 492,025,577      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa -      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 10,133,152,232      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 81,102,198,543      v= jfl)fHo a}+sx?nfO{ 15,477,819,126

     u= ljQLo ;+:yfx?nfO{ 831,075,419
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 3,788,152,479
  10 ;"g df}Hbft 1,808,262,782
  11= cGo ;DklQ 39,291,852,926

hDdf OSjL^L tyf bfloTj 668,163,948,561   hDdf ;DklQ 668,163,948,561
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